Multiple choice questions

1. Why does the man NOT buy the ring for sale?

A. He doesn't think it is very special.

B. Someone else bought it before him.

C. He has no need for a ring.

D. The ring is too small.

2. What is the problem with the CD player?

A. The buttons are scratched.

B. The CD casing is chipped.

C. The handle is damaged.

D. The display is loose.

3. The man is not interested in the leather jacket because:
A. it is stained.

B. he already has one.

C. it’s too expensive.

D. the seams are coming undone.

4. What is the customer's initial counter offer for the records?
A. $25

B. $28

C.$30

D. $35

5. From the conversation, what does the customer probably purchase from the
merchant in the end?

A. only records

B. only a vase

C. some records and a vase

D. nothing
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